RA 560 B

Tractor nozzle

Stand: 02.10.2017 15:53

RA 560 B cleanfix

5
T~
?—
10—¢®
9—¢°
1
6
13
—25
-2
14—
23
83—

RA560B Saugdiise / Suceur de tonage / Tractor nozzle B 11-01.2012



RA 560 B

Tractor nozzle

Stand: 02.10.2017 15:53

Position | Ersatzteilenummer Benennung
11470.831 Hose complete
5(560.310 Support to nozzle suspension
6(560.305 Support to vacuum nozzle
7|P486 R Hexagon socket screw M 6x16
8(P4921 Security screw - nut M 6
9(P486 Q Hexagon socket screw M 6x12
10|P498 K Serrated lock washer M 6
11 (P496 L Washer M 6
12 (P497 P Washer M 8
13(P492 H Security screw - nut M 8
141560.550 Suction nozzle complete, including items 15-26
151510.602 Clamping guide
16|530.606 Nozzle end piece
17(530.601 Nozzle insert
181560.080 Suction lips set, oil and fatsteadily
181530.080 Suction lips set, standard
20|450.364 F Fender wheel 50 mm
21(530.609 Distance piece 6/8x27,5 mm
22|P497 M Washer 6/16x1
23|P486 U Cylindrical screw M 6x35
24 |P494 X Screw knob M 6x20
251530.607 Star handle
26| P253 B Locking handle




